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Part A

Answer all guestions.
Fach question earries 1 miark,

What is Job costing 7

What iz Economic Batch Quan.tity 7

What iz cogt plus contract ?

What is meant by work certified ?

What do you mean by abnormal gain in process costing 7
What is Joint products 7 .
What is Margingl costing 7

What is absorption costing 7

What is Budget centre ?

What is meant by cash budget ?

Part B

Angwer cny eight questions.
Each guestion carries 2 marks.

11. What are the various methods of costing useful for business decision making ?

12. State the process of determining the profit of incmupl_éte eontract.

13, What are the elements of production eosts in process coating ?

14, ‘What is meant by Budget manual ? State its uses,

15. What are the advantages of Break-even Analysis ?

16. Explain the features of job mstiﬁg.
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Explain various methods of appo rtionment of Joint produet costs.

A manufacturer buys certain equipment from outside suppliers at Rs. 30 per unit. Total annual
noeds are 800 units. The following further data are available :

Annual return on investment 10 %; Rent, insurance, and taxes per unit per year Re.l ; Cost
of placing an order Rs, 100 /. Determine Eeonomic batch quaniity.

You are given the following data :—

Ra.
Fixed cost . e 20,000
Variable cost . 10,000
Contribution e 40,000

Caleulate: PV ratio, BEP and Margin of Safety.

In 'pmcess-B, 75 units of & commedity were transferred from process A at & cost of Rs. 1,310. The
additienal expenses ineurred by the process were Ra. 190. 20 % of the units entered are normally
lost and sold @ Rs. ‘4 per unit. The output of the process was 70 units. Prepare Process B Account.

fBx2=18)
Part C

Answer any six questions.
Each question carries 4 marks,

Make & note on application of costing methods in husiness decision making.
What are Process losses ? Tlow to deal these In process eosting ?
Digtingwish:
{i} Absorption costing and Marginal costing,
(i) Joint products and By-products.
(iii} Tized budget and flexible budget.
What are the importance of Performance budgeling ?

Discuss briefly the principles to be followed while: laking credit for profit on inco mplete Cantracts.

‘The output from Process X totaled 2,500 units. It was considered that 200 umts were an abnormal

loss, Normal loss allowed was 10 %. The other information are given helow:

Material i ... (@ Rs. 5 perunit
Lobour ... Bs. 4,0_[!!0' !
Overheads ... Rs. 3,350
Wastage realized ... Rs. 2.50 per unit.

. Yoy are raquired to prepare 'Prm_:es.s Account and Abnormal Loss Account,



7.

28,

29,
30.

3 E 5888

The fnllnwing_ information at 50 % capacity is given. Prepare a flexible budget at 60 %, 70 % and.
90% capacity,

Expenses at 50 % capgeify (Ha,)

Fixed expenses we 2,20,000
Variable expenses - 4.50,000
Semi variable EXPENZeg e 3,440,000

It is estimated that fixed expenses will remain constant wt all capacities, Semi- variable expenses
will not change betwuen 45 % and 60 % capacity, will rise by 10 % hetwesn 60 % and 75 2
capacity, a firther increase of 5 % when capacity crosses 758 %:

isales Rs. Profit Rs,
Period T o 1,00,000 15000
Period IT 120,000 23,000
You are required to find out: P/V ratio, fixed cost, Break-even-point and sales required to earn a
profit of Rs. 20,000,

ibxd= 24)
Part D

Anster any two gquestions,
Each question carries 15 marks.

Describe job Costing and Bateh Costing giving example of industries where these are used.

The following balances were extracted from the books of 4 building contract on 3ist March, 2015
regarding Contract No. 123 :

Materials issued to site—Rs, 8,27.200,

Wages Paid—Rs. 7,34,550,

Wages outstanding on 31.3.2015—Rs. 7,200,

Plant issued to site—Rs. 60,000,

Dircc:t charges paid—Rs, 25,150.

Dircet charﬁes outstanding on 31.3,2ﬂ13—Rs. 2,100,
Establishment Charges—Rs. 56,500, _

Stock of materials at site on 51.3.2015—Rs, 12.000.
Value of work certified on 31.3.2015—Rs, 18,50,000.
Cost of work not yet certified—Rs. 35,000,

Cash received on account of architects certificate after deduction by customer of 5 percent
retention money Rs. 14,10,760 ;

The work was commenced on April 1,2012 and the contract price ﬁgrecd at Re. 24.50,000,
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Prepare contract account for the vear providing for depreciation of plant of 25 per cent, Calculate
the Profit or Loss in the contract to date and make such provision in the contract account as you
consider desirable. Set out also contractors balance sheet so far as it relates to the contract.

From the following information of The Magila Corporation Ltd., vou are required to find out P/V
ratio, BEP and Margin of safety.

Sales in units 2 I 15,000.

Fixed expenses | Rs. 84,000/,
Sales value Rs. 1,60,000/.
Variable coste ' Rs. B/ per unit.

Also caleulete the revised B/V ratio, BEP and Margin of safety in each of the following sach of the
cases : (a} Decrease of 10% Selling price; (b) Increase of 10 % variable cost ; and (c) Increage of
sales volume by 2000 units.

{2 % 16 = 30)



